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Name: __________________________________


1
Given [image: image1.png]


, where [image: image2.png]


 is an angle in standard position terminating in quadrant IV, and [image: image3.png]sin? 8+ cos? &

1



, what is the value of [image: image4.png]


?

1) [image: image5.png]


   2) [image: image6.png]


   3) [image: image7.png]


   4) [image: image8.png]“





2
Given [image: image9.png]


 and [image: image10.png]


 terminates in quadrant II, what is the value of [image: image11.png]


?

1) [image: image12.png]


   2) [image: image13.png]


   3) [image: image14.png]7



   4) [image: image15.png]“





3
If [image: image16.png]


 and [image: image17.png]


 is in Quadrant III, then [image: image18.png]


 is equivalent to

1) [image: image19.png]


   2) [image: image20.png]


   3) [image: image21.png]


   4) [image: image22.png]




4
Given that [image: image23.png]sin? 8+ cos? &

1



 and [image: image24.png]


, what is a possible value of [image: image25.png]cos &



?

1) [image: image26.png]


   2) [image: image27.png]


   3) [image: image28.png]


   4) [image: image29.png]




5
If [image: image30.png]


 and [image: image31.png]tand <0



, what is the value of [image: image32.png]


?

1) [image: image33.png]


   2) [image: image34.png]


   3) [image: image35.png]


   4) [image: image36.png]




6
What is the value of [image: image37.png]


 when [image: image38.png]sin &=



 and [image: image39.png]


 is in quadrant II?

1) [image: image40.png]


   2) [image: image41.png]


   3) [image: image42.png]


   4) [image: image43.png]




7
Given [image: image44.png]


 where [image: image45.png]x
2 <ocx



, what is the value of [image: image46.png]sec &



?

1) [image: image47.png]


   2) [image: image48.png]


   3) [image: image49.png]


   4) [image: image50.png]




8
Using the identity [image: image51.png]sin? 8+ cos? &

1



, find the value of [image: image52.png]


, to the nearest hundredth, if [image: image53.png]cos &



 is –0.7 and [image: image54.png]


 is in Quadrant II.

9
Given [image: image55.png]


 with [image: image56.png]


 in Quadrant II, find the exact value of [image: image57.png]


.

10
Given [image: image58.png]tan 6= =



, and [image: image59.png]


 terminates in Quadrant III, determine the value of [image: image60.png]cos &



.

11
Given [image: image61.png]


 and [image: image62.png]cotd




, determine the value of [image: image63.png]


 in radical form.


1
ANS:
2

If [image: image64.png]


, [image: image65.png]


, and [image: image66.png]



REF:
081811aii

2
ANS:
1

If [image: image67.png]


, [image: image68.png]


 in QII, and [image: image69.png]



REF:
062417aii

3
ANS:
1

[image: image70.png]



REF:
081905aii

4
ANS:
2

[image: image71.png]



REF:
061712aii

5
ANS:
3

[image: image72.png]


  Since [image: image73.png]tand <0



, [image: image74.png]



REF:
012320aii

6
ANS:
3

[image: image75.png]



REF:
082312aii

7
ANS:
1

[image: image76.png]



REF:
012421aii

8
ANS:


[image: image77.png]sin® @+ (-0.7)7 = 1

sin® 8= 51




  Since [image: image78.png]


 is in Quadrant II, [image: image79.png]sin @= ~f 51



 and [image: image80.png]



REF:
081628aii

9
ANS:


[image: image81.png]


[image: image82.png]


 as sin is positive in Quadrant II.
REF:
012527aii

10
ANS:


[image: image83.png]sin @ 7%5
- EDSS:TAS




  [image: image84.png]



REF:
061928aii

11
ANS:


[image: image85.png]cosd =

sind





REF:
082229aii

